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Question 1 (PDA)

Consider the CFG G with non-terminals {S,A}, terminals {a, b, c, d}, start symbol S and productions

S → AcS S → d A → aAb A → a

Give an LL-PDA and an LR-PDA for this CFG.

Solution:

LL-PDA (# initial stack symbol):

q0 q1 qF
〈ε,#, S#〉

〈ε, S,AcS〉, 〈ε, S, d〉, 〈ε,A, aAb〉, 〈ε,A, a〉

〈a, a, ε〉, 〈b, b, ε〉, 〈c, c, ε〉, 〈d, d, ε〉

〈ε,#, ε〉

LR-PDA (# initial stack symbol):

q0 q1 qF
〈ε, S, ε〉

〈a, ε, a〉, 〈b, ε, b〉, 〈c, ε, c〉, 〈d, ε, d〉

〈ε, d, S〉, 〈ε, ScA, S〉, 〈ε, a,A〉, 〈ε, bAa,A〉

〈ε,#, ε〉


